AZIOXHMEIQTEX TAYTOTHTEX

L P
M (a+ By =a’+2ap + P
Egopuoyn-rapdoctyua:

(2x + 3y)2 = (2x)*+ 2 -2x - 3y + (3y)? = 4x® + 12xy + 9y?

¢ & 4+ &

(@ + B2 =0 + 208 + pB?

(a - B)* = a” - 2ap + p?

Egopuoyn-rapdoctyua:

2.

(3x—4y)2 = (3x)2—2 - (3x) - (4y) + (4y)? = 92— 24xy + 16y?

L& A l l

(@-B2 = a*- 2aB + B2

(a+B)’ = a’+ 3a’p + 3ap® + p°

3.

Egpopuoyn-ropadderyua:

x+2P =x*+3x22+3x22+ 28 = +6x2 +12x + 8

(a-B)’ =a’ - 3a°p + 3ap° - B°

Egpapuoyn-ropadderyua:

4.

(2% - 5)3 = (2x)% - 3-(2%)2-5 + 3-(2x)-52 - 53 = 8x3 - 60x2 + 150x - 125.



(o + B)a- B)=a®- p?

Egpopuoyn-ropadderyuo:
Xx+2)x-2)=x-22=x%_4
(3a + 2B)(3a - 2B) = (3a)? - (2B)¢ = 9a? - 4p?

M (a - BYa® + af + B%) = a’- B?

N (@ +B)a?-aB + B?) = a® + P



